Test     Chapter 4   A.P. Calculus   Name _______________________

I. Multiple Choice
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_______  3.  If  
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_______  4.  If  y = Arcsin (2x) ,  Then  
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_______  5.  Let   
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_______  6.  Boats A and B leave the same place at the same time.  Boat A heads due

                     North at 12 km/hr.  Boat B heads due East at 18 km/hr.  After 2.5 hours, 

                     how fast is the distance between the boats increasing (in km/hr)?



A)  21. 63       B)  31.20       C)  75.00       D) 9.84       E) 54.08
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_______  9.  If   
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II.  Free Response       
Show all work.

10.  Give the exact value of   
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11.  Determine  
[image: image46.wmf](

)

(

)

13

2

x

d

Cose

dx

-


12.  Determine 
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14.  Sketch the graph of  
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15.  Derive the formula for the derivative of   
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16.  A rectangular swimming pool is 40 feet long, 20 feet wide, and 8 feet deep.  If the  

       pool is filled by pumping water into it at the rate of 40 cubic feet per minute, how 

       fast is the water level rising when it is 3 feet deep?

17.  Determine the derivative of  
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18.  Determine the derivative of   
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19.  Determine the number of years it takes to accumulate $1,000 if you start with

        $700 invested at 5.25% compounded quarterly.

        Use  the compound interest formula:  
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Extra Credit:  Determine the effective Annual Yield of 5% compounded quarterly.

_1099674913.unknown

_1099678572.unknown

_1099678864.unknown

_1193944244.unknown

_1193945857.unknown

_1193945989.unknown

_1193945987.unknown

_1193945321.unknown

_1099678997.unknown

_1099678998.unknown

_1099678888.unknown

_1099678817.unknown

_1099678843.unknown

_1099678593.unknown

_1099678747.unknown

_1099678479.unknown

_1099678527.unknown

_1099678548.unknown

_1099678497.unknown

_1099675002.unknown

_1099675725.unknown

_1099678434.unknown

_1099675076.unknown

_1099675234.unknown

_1099675067.unknown

_1099674962.unknown

_1099674070.unknown

_1099674252.unknown

_1099674717.unknown

_1099674765.unknown

_1099674285.unknown

_1099674154.unknown

_1099674208.unknown

_1099674118.unknown

_1099670313.unknown

_1099672558.unknown

_1099672656.unknown

_1099672780.unknown

_1099672581.unknown

_1099672629.unknown

_1099670377.unknown

_1099672525.unknown

_1099670339.unknown

_1099667558.unknown

_1099668527.unknown

_1099670259.unknown

_1099667634.unknown

_1099667682.unknown

_1099667708.unknown

_1099667561.unknown

_1099666965.unknown

_1099667421.unknown

_1099666871.unknown

_1099662235.unknown

